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5l- = = 503 522 497 1,019 — 2

x 4 7 229 229 263 492 — 3
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N 1,049 1,115 1,080 2,195 + 3

= H 148 160 169 329 0

it m W 92 112 125 237 — 1

BMoom 142 137 174 311 0
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= x 85 101 112 213| — 1
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HEL2TE 0 0 0 0 0
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AN E 1,000 1,119 1,262|  2,381] + 8
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gl A w 29 28 36 64 0
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&BIE3TE 221 300 294 504| — 4
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SR E 178 313 291 604| + 2

AN E 1,334 1,812 1,838 3,650 — 3

o 292 378 369 747 — 1
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wF £ B 64 74 80 154 0

v i 336 393 425 81| — 1

B O 455 495 569 1064 + 9

N 1,170 1,362 1,470 2,832] — 1

X%1TH 397 438 487 925] — 8

XE2TEH 528 600 685 1,285 + 3

Ax=x=3TBH 341 399 413 812l — 5
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XE5TE 128 137 138 275|  + 3

AN E 1,972 2,241 2,433 4674 — 7

6,525 7.649 8.083] 15,732 0
B B L 1 + 24 + 12 — 12 0




